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O ¢t 2els €58 &) 2¢
,000,000& 5,000
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307 QI2t0| ™ 250,000 260,000 A 10,000
05 QIZtRES 250,000 260,000 A 10,000
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01 Al&H| 20,000 20,000 0
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20,000,000 20,000
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01 Al&H| 1,000,000 0 1,000,000
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PN RS- R )y
D s3HA HE 2

=
D s3HA 2e2E

02

SA - BB B () - MM - BES Ol &t o San HmEET
O ZEs3HA 3ANEs K2
10,000, 000& 10,000
I 2ot 907,500 850,000 57,500
s 645,999
< 67,000
s 194,501
SZEUSSEMHL ALY 36,500 33,000 3,500
LIS AHEINLAIY AIE2 SR 22 36,500 33,000 3,500
202 4l 1,500 3,000 A 1,500
01 = LH YI 1,500 3,000 A 1,500
SEMNSSHNEMGY HRFE Kl
1,500,000 1,500
401 AIEHI L 20 35,000 30,000 5,000
01 A& bl 35,000 30,000 5,000
SEUNSTESNLEAMG AIEE28 A Z2HI(5
HEA) 20,000,000& 20,000
O &8 Ms33 oHUiz2tE & X1 15,000,000 15,000
NSt =ME A ALY 871,000 817,000 54,000
s 645,999
< 67,000
s 158,001
F ARG MEWH HEAMY (2SS 2HA) 871,000 653,000 218,000
s 645,999
< 67,000
s 158,001
307 gl2tol & 67,000 0 67,000
s 49,692
< 5,154
[ia 12,154
05 BIZHRI & 3 67,000 0 67,000
O & 202 HANY MENHH HEAL
67,000,000& 67,000
s 49,692
< 5,154
[ia 12,154
401 Al IR 201 I 804,000 653,000 151,000
s 596,307
< 61,846
s 145,847
01 A& Bl 802,000 648,887 153,113
O o 2OA0IS HANY MENH HEAL
802,000,000 802,000
s 594,824
= 61,692
i 145,484
03 Al 2 THHI 2,000 4,113 A2,118
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O 24t 2A0ES HAXYG M0 A HEAE
2,000,000& 2,000
s 1,483
< 154
i 363
sEMENsS &4 36,878 38,669 A1, 791
= 9,607
< 3,771
s 23,500
sEMEits 54 36,878 38,669 A1, 791
= 9,607
< 3,771
s 23,500
SMsENENE 4 7,500 7,500 0
301 LeHEBAF 7,500 7,500 0
02 ¥st=st it = 7,500 7,500 0
O s&22 2 MEints 2l itz
7,500,000 7,500
MENME O &4 7,550 9,300 21,750
201 Let24d] 6,800 7,800 A 1,000
01 At 2teltl 5,800 6,800 A 1,000
O HdEME0S gRFE L= H|
3,000,000& 3,000
O dEfME0S dRF=& =&H 2,800,000& 2,800
03 A2 Z Hl 1,000 1,000 0
O MEHMENES 2HL 223 WK
1,000, 000& 1,000
202 Odl 750 1,500 AT750
01 =S LHAYI 750 1,500 AT750
O MEHHE0S RFN 750,000& 750
SENESL0ES AARE MEXJ(2M]) 17,280 17,280 0
= 8,640
= 2,592
e 6,048
307 glz2+ol & 17,280 17,280 0
= 8,640
< 2,592
e 6,048
02 QIZtE M AHEE 17,280 17,280 0
O sENgs20E MRE MEXE
21,600,000 *80% 17,280
= 8,640
< 2,592
s 6,048
SEME F20t2 d22s WA (2H) 480 480 0
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= 300
< 54
= 126
301 LEAZ 480 480 0
= 300
< 54
s 126
09 HALAHIX RS 480 480 0
O Mgiote d&2ds nsl 480,000& 480
=2 300
= 54
s 126
SEMES L0 28 I XA (38I) 1,068 1,109 A4
= 667
< 125
s 276
307 21201 A 1,068 1,109 A4
= 667
< 125
[ia 276
06 2= 1,068 1,109 A4
O MEite 28+l 1,068,000 1,068
= 667
< 125
s 276
SENENSEES 23 (&Hl) 3,000 3,000 0
< 1,000
s 2,000
307 glz2tol & 3,000 3,000 0
< 1,000
[ia 2,000
04 DIZHHALALSE E X 3,000 3,000 0
O SZM80IE 222 29
3,000,000& x100% 3,000
< 1,000
s 2,000
SESHX 43t 4,980,000 1,462,000 3,518,000
s 3,486,000
s 1,494,000
dE8 M SEZHAMY 4,980,000 1,462,000 3,518,000
s 3,486,000
= 1,494,000
AES sESHA E43AE(2/2S) 4,980,000 1,462,000 3,518,000
s 3,486,000
= 1,494,000
307 21201 A 500,000 0 500,000
s 350,000
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o 150,000
05 RIZt &= 500,000 0 500,000
O BES SESUN ZHFMS (NI ASLS
) 500,000, 000& 500,000
= 350,000
i 150,000
403 XSS =0l & 4,480,000 1,458,346 3,021,654
s 3,136,000
s 1,344,000
02 S 2SO HE 2R 2 E AL H 4,480,000 1,458,346 3,021,654
O HES sE34X #H3AME
4,480,000,000& 4,480,000
as 3,136,000
e 1,344,000
Ut MHHENLE (HEZO0F) 4,500,000 1,367,000 3,133,000
s 3,150,000
s 1,350,000
AL HE N 4,400,000 1,367,000 3,033,000
s 3,080,000
s 1,320,000
OrM HTMEAHY HEMNL(2/2S) 4,400,000 1,367,000 3,033,000
s 3,080,000
s 1,320,000
403 UHXSHHSA=0l& 4,400,000 1,367,000 3,033,000
s 3,080,000
s 1,320,000
02 ZIIZSOITHE X 2= S A 4,400,000 1,367,000 3,033,000
O ot AR HENL AL
4,400,000,000& 4,400,000
s 3,080,000
s 1,320,000
NZASLs (=) 100,000 0 100,000
s 70,000
s 30,000
HER NS BT (HE2)(2/BS) 100,000 0 100,000
s 70,000
i 30,000
307 21201 A 100,000 0 100,000
s 70,000
[ia 30,000
05 BIZERI & 3 100,000 0 100,000
O &2 NAAS2ASASY 100,000, 000& 100,000
ras 70,000
e 30,000
U SMHENL (SEZ0H) 4,317,000 1,588,000 2,729,000
s 2,356,900
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- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
o 1,960, 100
0=t D 950,000 463,000 487,000
HEZ NSUHED MY (Z/DETE)(HEAY) 950,000 0 950,000
401 AlEHIZ 201 Y| 950,000 0 950,000
01 Al&H| 950,000 0 950,000
O 2R UISVSI AY(HE D4, BB &
&) 650,000,000 650,000
O =2 0IESCtED| AFY (20218 A7 22)
300,000,000 300,000
ANZde2ds (sAER) 40,000 0 40,000
g 28,000
= 12,000
AEZ JdBUSIAG(SAELR)(2/2E) 40,000 0 40,000
g 28,000
= 12,000
307 QI2t0| & 40,000 0 40,000
Fag 28,000
= 12,000
05 QIZtREZ 40,000 0 40,000
O HER XA 2UG MY (SAER)
40,000,000 40,000
= 28,000
= 12,000
I =MEE 3,327,000 1,125,000 2,202,000
Fag 2,328,900
= 998, 100
M0 Jlx M8 HE 4 MY (2/2E) 2,622,000 725,000 1,897,000
Fag 1,835,400
= 786,600
307 QI2t0| & 100,000 0 100,000
g 70,000
= 30,000
05 QIZtRES 100,000 0 100,000
O S48 JIZMEHE SHAIY (KHA 2235
) 100,000,000 100,000
Fag 70,000
= 30,000
401 Al HI L £ 0HHI 3,000 2,000 1,000
Ry 2,100
= 900
03 AlIE 2 HH]| 3,000 2,000 1,000
O E46H JIxMEHE A 3,000,000 3,000
= 2,100
= 900
403 XX SHHS K20 & 2,519,000 723,000 1,796,000
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Fag 1,763,300
= 755,700
02 ZI2SHUSA=2EAEAS Y 2,519,000 723,000 1,796,000
O SAtH JZMEHE LAY
2,519,000,000& 2,519,000
g 1,763,300
= 755,700
S0 JZMEHNE SHAY(2/2E) 705,000 400,000 305,000
Fag 493,500
= 211,500
401 AlEHI 2L £ 0HY| 705,000 400,000 305,000
= 493,500
= 211,500
01 Al&H| 703,000 398,920 304,080
O &sH JxzMEHE LAY
703,000,000 703,000
Fag 492,100
= 210,900
03 AlE 21| 2,000 1,080 920
O &sd Jx=MEHE KFHAIY  2,000,000& 2,000
= 1,400
= 600
SE NEHE EHAANY 2,233,920 2,202,000 31,920
Fag 1,470,000
= 763,920
SE NEE EHAAY 2,233,920 2,202,000 31,920
Fag 1,470,000
= 763,920
ULISAMANHENL (SZ)/TBEZ NEBANS(Z2/BE) 2,100,000 2,100,000 0
Ras 1,470,000
= 630,000
307 gizto| A 898,000 620,000 278,000
g 628,600
= 269,400
05 QIZtRES 898,000 620,000 278,000
O TEZ NEE ZHA(MAX Hethl) ALY
=& 898,000,000 898,000
= 628,600
= 269,400
401 Al HI L £ 0HHI 2,000 0 2,000
g 1,400
= 600
03 Al 20| 2,000 0 2,000
O TER e ZHA(MEX Hethl) AHY
=& 2,000,000 2,000
Fag 1,400
= 600
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403 XX SHHS K20 & 1,200,000 1,480,000 A 280,000
Fag 840,000
= 360,000
02 BI2SHUESX=2EAEAISHI 1,200,000 1,480,000 A 280,000
O TEZ NEE EHA (M= Hetdl) AHY
=& 1,200,000,000& 1,200,000
Fag 840,000
= 360,000
HEZ SZE ANEHE EHA AIY FRG 0lAHH| 133,920 102,000 31,920
307 212t0| & 133,920 102,000 31,920
02 DIZEEAAIRE E X 133,920 102,000 31,920
O BED =& ABABHANY XS A
| 133,920,000 133,920
DSt 43t 312,000 264,000 48,000
o= 84,300
= 227,700
JIZE2 0SS0 X 312,000 264,000 48,000
=} 84,300
= 227,700
osx2sAHots) g4 11,000 61,000 A 50,000
201 et d| 8,000 31,000 A 23,000
01 AP 22| d| 8,000 11,000 A 3,000
O DISZSHUES) ASET Yoo
5,000,000& 5,000
O 0tSZ2sHeE)| 92FF S|
3,000,000& 3,000
202 044 3,000 10,000 A7,000
01 2L Hl 3,000 10,000 AT7,000
O 0tsZ2sHetsl 92 =& ol
3,000,000& 3,000
OS2 H BtsJ| 4(%H|) 131,000 45,000 86,000
& 39,300
= 91,700
307 giztol A 131,000 45,000 86,000
& 39,300
= 91,700
02 Q2B AMAIE E =X 131,000 45,000 86,000
O nls2sH 2N (Z)
131,000,000 131,000
&< 39,300
= 91,700
ANZOIS2SHANJAMME S AL (EH]) 150,000 150,000 0
& 45,000
= 105,000
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SN HE B (BH) - MR - BES e bl D=2t
307 glz2tol & 150,000 150,000 0
< 45,000
s 105,000
02 PIZHEHAHE L 150,000 150,000 0
O A= Ot&2s ALY Q2]
120,000, 000& 120,000
< 36,000
s 84,000
O A= OtSZ2sH XNJHEH S8 Mg AHZH
30,000,000& 30,000
< 9,000
e 21,000
ANZOtESsSH A& dE 20,000 8,000 12,000
307 gl2tol & 20,000 8,000 12,000
02 It M AHE L 20,000 8,000 12,000
O AN DI=SESK AX2(=2hl)
20,000,000& 20,000
HE2IAZH (KNS ZHD) 102,160 102,640 A 480
=2l 102,160 102,640 A 480
Jl234l/X1<2E 40,660 40,640 20
201 Let2d] 30,560 29,940 620
01 At 221l 20,960 20,340 620
O e+t 10,000, 000& 10,000
O =&l 43 » 15541 %8, 000 4,960
OvER=E= 1,500,000& 42 | 6,000
02 =24l 9,600 9,600 0
O 322232 % HMA 23 800,000& = 12& 9,600
202 o4dl 6,000 6,000 0
01 = LH o4 1l 6,000 6,000 0
O N3 H g2= 6,000,000 6,000
203 YR =] 3,600 4,200 A 600
04 NIRRT 3,600 4,200 A 600
O BA2IYR= 300,000& 122 3,600
405 XHoHF S HI 500 500 0
01 XL 2 ZFH S| 500 500 0
O 2BM 478 287 500,000& 500
Jl2gdl/d el #2s 19,000 19,000 0
201 L2l 13,000 13,000 0
01 At 22l 9,000 9,000 0
O e+t 5,000,000 5,000
O =&l 4,000,000& 4,000
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M. HYSHAY (KA Z M)

¢l =gl CEE-ED
SA - BB B () - MM - BES Ol &t o San HmEET

02 =224l 4,000 4,000 0

O 22232 % MAM3U3 4,000,000& 4,000
202 oddl 6,000 6,000 0
01 S LHOYI 6,000 6,000 0

O gRF& ol 6,000,000 6,000
JI23H/ER=X 24,000 24,000 0
201 et 14,000 14,000 0
01 At 22l 14,000 14,000 0

O ger==&Hl 10,000, 000& 10,000

O Sl 4,000,000& 4,000
202 oddl 10,000 10,000 0
01 = LH o4 1l 10,000 10,000 0

O SR NEYS 2 A 10,000, 000& 10,000
l2zdl/otess 18,500 19,000 A 500
201 £B-2dH| 12,500 13,000 A 500
01 At 22l 8,500 9,000 A 500

O ger==&Hl 4,700,000& 4,700

O =gl 3,800,000 3,800
02 =24l 4,000 4,000 0

O 32323 % HMA 4,000,000& 4,000
202 O4dl 6,000 6,000 0
01 = LH o4 4l 6,000 6,000 0

O gRF& ol 6,000,000 6,000
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